Installation Instructions Part Numbers:

Mitsubishi Outlander 75555
44579
Plastic Fascia (Except Sport) 87444
Do Not Exceed Lower of Towing Vehicle
Manufacturer’s Rating or
. Max Gross Max Tongue
Hitch type Trailer WT
. cee (LB) WT (LB
Hitch Shown In Proper Position il 5
Weight Distributing 4000 (1816 Kg.) 400 (182 Kg.)
Equipment Required: Weight Carrying
4000 (1816 Kg. 400 (182 Kg.
Fastener Kit: 75555F Ball Mount ( &) ( &)
Wrenches: 17mm, % Wiring Access Location: SUV3, SUV4
Drill Bits: None
Weldnuts in Vehicle

Frame Rail-Typical

Vehicle Frame

Tow Hook

These fasteners typical

Both sides of Vehicle
@ | aty.(6) | HexBolt—M10 x 1.25 x 40mm CL8.8 ® | aQty.(1) | Block—3/8x1-1/2x3
@ | aty.(6) | Conical Washer—3/8" ® | Qty.(2) | Block—3/16x1-1/2x 2
@ | aty. (1) | Tube Spacer @ | aty.(1) | Lockwasher — %"
@ | aty. (1) | HexBolt— %13 x 4.00 GR5 Qty. (1) | Hex Nut—1%-13
1. Lower exhaust by disconnecting (3) rubber exhaust hangers from muffler, (2) at the front and (1) at the rear of the muffler.
Note: If additional clearance is needed, disconnect muffler from exhaust pipe by removing (2) bolts forward of muffler. Retain bolts for re-
installation.
2. Raise hitch into position, installing fasteners as shown into existing weldnuts in vehicle frame.
3. Install tube spacer, blocks and '2-13 x 4” Ig. hex bolt thru tow hook and into hole in hitch bracket as shown.

Tighten all M10 x 1.25 CL8.8 fasteners with torque wrench to 42 Lb.-Ft. (57 N*M)
Tighten all 2-13 GR5 fasteners with torque wrench to 75 Lb.-Ft. (102 N*M)
4. Raise exhaust back into position by re-connecting rubber exhaust hangers (re-attach muffler to exhaust pipe if removed in step 1).
Tighten all M10 x 1.25 CL8.8 fasteners with torque wrench to 42 Lb.-Ft. (57 N*M)

Tighten all ¥2-13 GRS fasteners with torque wrench to 75 Lb.-Ft. (102 N*M)

Note: check hitch frequently, making sure all fasteners and ball are properly tightened. If hitch is removed, plug all holes in trunk pan or other body panels to prevent
entry of water and exhaust fumes. A hitch or ball which has been damaged should be removed and replaced. Observe safety precautions when working beneath a
vehicle and wear eye protection. Do not cut access or attachment holes with a torch.

Find more Draw-Tite products on our website. Learn more about trailer hitches and towing we have.


https://www.carid.com/trailer-hitches.html
https://www.carid.com/draw-tite/



